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1 Consider the foHowing statements
related to Madam Bhikaji Cama :

A. She is known as the ‘Mother of
Indian Revolution’.

B. In 1907, she addressed the
delegates at International
Womens Congress and unfolded
the Indian Tricolour Flag with
Vande Mataram written on the
middle.

C. She founded the ‘London Indian
Society’, in 1905.

How many statement/statements is/are
correct?

(1) Only 1 statement is correct
(2) Only 2 statements are correct
(3) Only 3 statements are correct

(4) None of the statements are correct

2  With re_fereﬁce to Indian History,
Izi_nrley-Mintn reforms 1909 resulted in:

A. Reforms promoted establishment

"I-'___.. "
of self-government in future.

B. Imﬂeased the nu_nlliér_gf_s_ﬂats
to provincial and imperial council.
C. Introduced separate electorate.

D. One Indian in Vicergy’s executive
council was appointed.

How many statement/statements is/are
correct? |

(1) Only 1 statement is correct
(2) Only 2 statements are correct
3) | Only 3 statements are correct

4) All4 statements are cotrect

Paper-1(E) B

B 2, 3

Select the incorrect statement about
Lahore Resolution.

TR Y 1Y F I

(1) It was adopted by the All-India © |
’ . !
Muslim League in March 1940, ;I;
(2) Resolution stated that the areas g
in which the Muslims are @
numerically in a majority as in the N
North Western and Eastern Zones
- of (British) India should be
grouped to  constitute
‘Independent States’. ucj']
(3) The resolution does not include ;
' the word ‘Pakistan’ anywhere.
m
(4) None of the statements are o
incorrect.
Consider the following statements with -
reference to Mina Bazar: Ty
-
1. Humayun was the first Mughal
emperor to introduce it. 2
sy
2. Akbar exalted such days or N
festival as Kuhs Ruz.
3. Shahjahan arranged such bazar on
the occasion of ¢vernn festival ~
4. It iﬂVﬂI’iEbl}' follow ed the Nauroz 5:-2
celebration. 8
Which of the above statements are g
_ correct? N

(1) 1 and 2 only
(2) 1.2 and 3 only

L

and 4 onlv

(4) All of the above

P.T.O.
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Which of the following statements are
correct in relation to Shivaji?

1. Dadaji Kondadev was the
guardian of Shivaji.

2.  Shivaji conquered Javli in 1656.

3. Shivaji conquered Javli from
Maloji Bhosale.

4. Shivaji was the only son of
Shahaji.

Select the correct answer using the code
given below:

(1) 1 and 2 only
(2) 1, 3 and 4 only
(3) 2, 3 and 4 only
(4) 3 and 4 only

Consider the following statements

about Indian Statutory Commission:

A. The Commission was appointed
in 1927 to review the Government
of India Act 1919 and propose
constitutional reforms for India.

B. The Commission included only

one Indian -member, which

sparked widespread protests
~across the country.

C. The outcome of the Commission

- and Round Table Conference was

the Government of India Act
1935.

D. Government of India Act 1935
introduced dyarchy in the
provinces.

Which of the statements are incorrect?
(1) A, B and D only

(2) C and D only

(3) A and C only

(4) B and D only

Paper-1(E)_B

The National Movement in the princely
state of Mysore has been divided under
the following periods in a book called
“The Political Economy of Indirect
Rule, Mysore 1881-1971".

1. Mobilization without organization
(1885-1920 A.D.)

ii. Elite Mobilization
(1920-1937 A.D.)

iii. Mass Mobilization
(1937-1947 A.D.)

Who was the author of the Book?

(1) W.A. Russel

(2) Bjorn Hettne

(3) Mohibbul Hassan

(4) Bipin Chandra

“Nagar revolt was due to the faulty
system of renting out large tracts of
land to the highest bidder, a practice
which led to the great oppression and
discontent.”

The above statement reflects on the
nature of Nagar Revolt of 1830-31. To
whom this stdatement belongs?

(1) C. Hayavadan Rao
(2) Lord Bowring

| (3) Sreenivasa Murthy & T

Ramakrishnan
(4) Mark Cubbon

To which sect Ajanta’s most of the

paintings belong?

(1) Mahavana sect of Buddhism
(2) Hinavana sect of Buddhism
(3) Vajravana sect of Buddhism

(4) Hinayvana and Vajrayana sects of

Buddhism

P.T.O.
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10 Consider the following statements
about Rajaram Mohan Roy :

Statements:

A. He wrote Tuhfat-ul-Muwahhidin
in Persian.

B. He upheld monotheism of Veda.
He founded Servants of Indian
Society.

D. He supported the cause of

freedom, liberty, democracy and
nationalism.

Which of the above statements is / are
correct?

(1) A, B and C only
(2) A, B and D only
(3) B and C only
(4) Donly

2883430

0

28834350

11 Who amongst the following women
revolutionaries at the age of 15-years,
along with her associate, shot Comilla
District Magistrate Stevens to death?
She also joined the revolutionary
:T_llgantar Party. In 1939, she was
released as per the amnesty treaty
between the - government and Mahatma
Gandhl After thls she: joined the Indian
National Cnngress Later she also
participated in Communist movement.
She authored a book titled Arun Bahni.

Answer Options:

(1) Bina Das

(2) Suniti Choudhary
(3) Shanti Ghosh

. (4) Pritilata Waddedar

2883450

Z4 2883450

Paper-I(E) B

12

13

Which of the following is not r_elaled

to Article 164 (1A)?
— ——
I. It was inserted into the
constitution through 9]5!

Constitutional Amendment Act.

II. According to this Article, the
strength of the Council of
Ministers shall not exceed 15%
of the total members of Lok
Sabha/State Legislature excluding _
Prime Minister/Chief Minister.

Answer Options:

(1) I only
(2) Both I and II
(3) II only

(4) None of the above

Which of the following Articles directs
the State to mtrnducﬂ the Scheme and

Plans tn I'IllIllIIllZE: inequalities in
—_———-'-—_-

—

income and to endeavor to :.I:mm.m.

mequallttes in status and opportunities
‘not only amnngst mdnrldual-. but also

amongst groups of people?

I 38(1)

II. 38(2)

III. Both 38(1) and 38(2)
IV. 89

Answer Options:

(1) I only

(2) II onlv

(3) L II and 111 onh
(4) IV only

P.T.O.
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14 Consider the following statements:

15

A. Moyar river flows in_borders of
Karnataka and Tamil Nadu. -

B. PalTa_r is a tributary of Cauvery.

S

C. Karanja is a tributary of Manjira

e —— .

and Manjira is a tributary of
Godavari River.
_________._.-"

D. Uttara Pinakini is an interstate
river flowing between Karnataka

and Andhra Pradesh. It originates

in Nandi Durga Hill.

=TT e

Choose the correct answer from the
options given below:

(1) All of the statements are correct
(2) Only three statements are correct
(3) Only two statements are correct

(4) Only one statement is correct

Consider the following statements
regards to atmosphere:

A. Homosphere ‘consists  of
| Troposphere, Stratosphere and
Mesosphere.

B. Ozone layer presents in
Stratosphere. |

C. Mesnsﬁhere is the coldest portion
of atmosphere.

D. Heterosphere consists of

Thermosphere and Ionosphere..

Choose the correct answer from the
options given below:

(1) Only one statement is correct
(2) Only two statements are correct

(3) Only three statements are correct

(4) All of the above statements are
correct

Paper-I(E) B

16 Consider the following countries:
A. Finland

B. Norway

C. Armenia

D. Kazakhstan

E. North Korea

How many of the above countries have
a border with Russia?

(1) Only two countries
(2) Only three countries
(3) Only four countires

(4) All of the above

17 How many of the following pairs are
correctly matched?

River City
A. Tiber Lisbon
B. Danube Vienna
C. Tagus Rome
D. Nile Cape Town

Answer Options:

(1) One pair only
(2) Two pairs only
(3) Three pairs only

(4) All pairs

P.T.O.
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18 Consider the following statements:

A. Superposition and Entanglement
are key principles of quantum
mechanics.

B. National Quantum Mission
(NQM) will establish four
Thematic Hubs (T-Hubs) to
promote innovation in quantum
computing, communication,
sensing, and materials.

Which of the above statement/
statements is/are correct?

(1) A only

(2) B only

(3) Both A .and B
(4) Neither A nor B

19 How many of the following statement/

statements is/are correct about Bharat
Ratna award? *

A. The recommendations for Bharat
Ratna are made by the Prime
Minister himself to the President.

B. The number of annual awards is
restricted to a maximum of three
in a particular year.

C. Both Nelson Mandela and Mother
Teresa are recipients of Bharat
Ratna award.

D. Only a person with Padma awards
can receive the Bharat Ratna.

Answer Options: |
(1) Oﬁly one

(2) Only two

(3) Only three

(4) All four

Paper-I(E)_B

11

20

21

The “Chip 47 or “Fab 47 alliance
includes four of the world’s top
producers of semiconductors. Which of

the following countries are part of the

“Fab 4~ alliance?

A. United States of America .

B. Netherlands

C. Australia

D. Japan ~

E. South Korea

F. Taiwan~

G. India -

Answer Options:

(1) A. B .G E

(2) B.E. F. G

3) C.DEG

4 A.D.E.F

- Which of the following statements
correctly describe the Djibouti Code of

Conduct?

(1) It aims to regulate the import of
any hazardous (including
radioactive) waste 1nto Africa.

(2) It promotes responsible sourcing
of critical minerals.

(3) Itaims to prevent coups in Afn
and ensure people-centered
democratic govemance.

(4) Itaims tor the repression of piracy

and armed robbeny against ships
In the western Indian Ocean and
the Gulf of Aden

P.T.O.
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A. NITI e203emd ABclecnideodn
00303 miﬁ@ DI odeex
(UNDP) 33 es58535°e 20833 S
S0I3 oPFY evads (OPHI) )
m%;oia DB 203D WBII
Artod (MPI) 0DFQBRRTS.

B. 2283 w®) 20D WEII
RRE08R) 12 RpB0sndIY |
BR0DD TN, 29833 2B eroldsd
wB3IE Rwedodx (MPI) 10
R odnIR), BRoLT.

20003 oIRd BePs/BePInD

peloriotatafnys

(1) A3

2) B &»3

(3) A D B avide

4) A ogm» B a8de oo
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22 Consider the following statements in 23 Which of the following statement/ g
relation to World Development Report- statements arc correct? o
2024 . A. The money market falls directly g
under the regulatory jurisdiction ¢\
A. The middle-income trap refers to of RBIL.
a situation where a country B. The Securities and Exchange
experiences stagnation in growth Board of India (SEBI) is the
after reaching middle-income regulatory authority for the capital
status, hindering its transition to market. (l?'}
high-income status. Answer Options: :.';
| (1) A only se
B. As th Id Bank rt, 118 o
per . € Wor re}an 2) B only o
countries were classified as
middle-income countries. (3) Both A and B
(4) Neither A nor B
C. India is one among the countries
SHLIAE GME the Rhddleacaine 24 Consider the following statement/ E:’_] :
trap. statements: -
. . ™M
_ A. NITI Aayog in collaboration with ¢
e s B i United Nations Development &
- adopt 31 strategy like invgsnnent, Programme (UNDP), and Oxford N
- infusion and innovation for low- Poverty and Human Development
income countries to achieve high- Initiative (OPHI) developed the
Income status. National Multidimensional
Poverty Index (MPI). =
Which of the about statements are B. India’s national MNPl has "g
correct? 10 indicators while Gloh.l MPL
has 12 indicators. b
(I) A, B and C only Which of the following (N
statements i1s/are correct’
(2) A, C and D only ) (1) ™% only :L
4 .
'(3) A,BandDonly (ea 1> only
(3) Both A and B
(4) All the above (4) Neither A nor B
Paper-I(E)_B 13 P.T.O.
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202009 T00AT  SHoHEdY;
(ResKilling) 030y 20308097 evdd
33, F3nich DI Uie 3 VIt
wo@) 338nctd BITI), FIZNNVRI
r_dobI, Beodd. 83 ToBIERD, D

93¢} 2,030b3), AR0oT TTVoPRGNTG: -

(1) ©o3e0e4 cod BNEZ ToPeI
e

(ILO)

(2) O3 esped Sedd (WEF)

(3) Zoaind mi ne OPNFY sobeF
(UNDP)

(4)  Roobod ToPY F3ed3, ez dd
To0R, 83 RoPEs (UNESCO)

R0BR Beo3RIR, SORER:

A. eomodhd  3eT3odn. WG
RomaodrdRy, 3903z d3eod
3R0301RAL.

B. &cod 3o030dn, THETT wtd)
3P D) TS, BATIBAAT
OO0 wi) A3 3N IO
PIZaIAT.

C. ey vmeodd Beztd e
SaRd Inags,o3 BN e
SPATITN amd BB T
&7obZ0hI, S0r8eNIT.

eI D, BePd/BeLBrih BOOIRAT/3?
(1) 20t &ePd In3,

(2) oBR BeRdnd I3

(3) Rt Beodried 303

(4) oln3d Bedrdn VO

Paper-1(E) B

14

27 8 3NIINTY IR ‘RLE’ (Roeg dep

28

S0e3R) B9 FORTY ToLOPRIRINT?
A, a380c% Bosnnsh (Stalactites)
B. eBnecd 3oannsd (Stalagmites)
C. olosoom

D. dadpt,

3INIZnvor BDoIRT ev3TRI, erd:
(1) 2ot SR3 FdoIRAT

(2) 2B 303, FOIAS

(.3) 20D B3, ROoIPAS

(4) ooRp RBCIPAR

B3 3INIJNLY IR 230 RBRIRD

Yol ToBod 520 EdHo
Z)zbasmmrbgtﬁ?

A. dooedey

B. 30 ©2030

C. eeiodnsssd 3
D. &0nee 3eedsl

39N e0BRPod ROOIRE EVIBBy, 5D

(1) 8@ 393 ZOaIPAS

(2) Rt 3»3 ZdDoIRNS
(3) edI 20Fp TOOIPAES
(4) oInFde TdodPAY

P.T.O.
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[Launched in 2020, the Reskilling
Revolution aims to empower one
billion people with better education,
skills and economic opportunity by
2030. In this context, the Reskilling
Revolution is launched by:

(1) International Labour Organization
(ILO)

(2) World Economic Forum (WEF)

(3) United Nation Development
Programme (UNDP)

(4) United Nations Educational,

Scientific and Cultural
Organization (UNESCO)

Consider the following statements :

A. Revenue deficit is fiscal deficit
minus the interest payments.

B. Fiscal deficit is the difference
between the government’s total
expenditure and its total receipts
excluding borrowing.’

C. When a government spends more
than it collects by way of revenue,
it incurs a budget surplus.

How many of the above statement/
statements is/are correct?

(1) Only one statement

(2) Only two statements
(3) Only three statements
(4) None of the statements

Paper-I(E)_B

15

27

28

Which of the following features are

associated with karst topography?
A. Stalactites

B. Stalagmites

C. Uvalas

D. Dolines

Choose the correct answer from the

options given below:

(1) Only one 1s correct
(2) Only two are correct
(3) Only three are correct
(4) All are correct

Which of the following Land forms are

formed by wind deposition?

——— —
A. Inselberg
B. Zeugen

C. Mushroom rock
D. Yardangs

Choose the correct answcer (rom the

options given below:

(1) Only two are correct

(2) Only three arc correct

(3) AIll the above are correct

(4) None of the above are correct

P'Tl 0 L
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308 wlowo w3 (MSP) ob 203 &

SDoDI BePd/BeRdneR), doced:

A. A JPnd DL do esolpena
(CACP) 3502019 55008 Ded
SR & WIRIR TeTFY) N
toww JSab), (MSP) dndsaa.

B. MSP (3.2do.2).) ody, d5e0=0
Sezdaen, CACP oo dedead )
eumm%coi) WSNI, ;a‘:ina)
ane}ﬁdé‘} 200 Q0T waﬂz-éﬂtj

C. dmfaoda I AZ, O
SoAZzAod MSP (3.230.23.)
VDTN Teg) ABT Dewnidd
(rapeseed) &3 AT S0
3R 00k MSP ndld) &gdd
ANDDBRTRAT.

8 DedIJHNRY) oI BePd/BePInD

pdelevintabnyy

(1) A3 B a3

(2) AR C 3N

(3) B 23 C 3In3

4) A Ba2xC

8 JwodI alRI wp Bt (Blue
Helmet) &3 B3 azﬁbxﬂj‘?

(1) S[eaEnd DD BoBIRH3ng
r-‘..a&;bmﬁ BRI
WERSEDTT JT2d 3B
(Climate refugees).

Z03 RIS WRIPRPMOA Roatnd
TR 19 R A200.

DD 0 D) BRI 30T
F{:‘aﬂw Q03 eI HAR0INT
303, ri"t:?;i: WIRT To0I, w3
:de)mdtb

Not3ng 88 Swwedond i
Do NG erp8d Dennide
Tomeod 3B chord e
SRET 30RT NIV DR
$RrRT.

(2)
3)

4)

Paper-I(E)_B
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31

32

g5 20003 BePIRI, JorEd:

A.

ABReD Tozsscod NPT Wolthas
g3t D) JPI Do, |wIn
OEIYy IVOTW  F,I°I
3RCTDECAIT QoW FWIIY
FRIVT.

3° DB A3HIRBY, FIEID
30N 03B BRCHDEICAT
VOERATIHDD. |

83 39N JVewd/@ePINTS 03P W2

3B aiRADHBS?

() A3n3

(2) B 3n3

(3) A 33 B adde

(4) A ©3E=0 B o83» e

R00BS SR, Bev/BeddRD ROAIPA/

20odeNS? |

A. Recox® &Ef (Golan Heights) e3se
D) 2DabT SRS N3 T3,

B. enjdh na ROPRE ) Vo' DD

QUITR IRIIN ROTAE N T.
JOTRRCTRCRRC-BVLRE ROTRE )
CHER =03 u’mﬁm’ SEINI

RODRE w3NT.

SZeViXya ok

(1)
(2)
3)
(4)

2,00 BePd 303, FDoPNT
VR Bewdneh B3, ROIPATS
2ot Bevdrsh P3G, BOAIRAS
oIns Bed3ohie BOCIPA
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29 Consider the following statement/
statements about Minimum Support

Price (MSP) :

30

= 2883450

A.

Government fixes Minimum
Support Prices (MSPs) for all the
agricultural crops based on the
recommendations of  the
Commission for Agricultural
Costs & Prices (CACP).

While recommending MSP,
CACP considers ‘domestic and
international prices’ as one of the
important factors.

MSP for Toria and de-husked
coconut is fixed based on MSPs
of rapeseed & mustard and copra,
respectively.

Which of the above statement/
statements is/are correct?

(1)
2)
(3)
(4)

A and B only
A and C only
B and C only
A, B and C

Which of the following best describes
the Blue Helmet?

(1) Climate refugees as a result of

(2)

3)

(4)

floods and cyclones.

United Nations military personnel
for peacekeeping missions.

Traditional fishermen using
traditional fishing techniques like
cast nets and harpoons.

Manual labour and workers who
are paid either by the hour or on
a piecework basis.

Paper-I(E) B
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31

32

Consider the following statements:

A.

Cohabitation is a term used in
France when the President and
Prime Minister come from
opposing pul’itical camps.

In the history of the Fifth
Republic, there has never been a

cohabitation in France.

Which of the above statement/

statements is/are incorrect?

(1)
(2)
(3)
(4)

A only

B only

Both A and B
Neither A nor B

How many of the following statement/

statements is/are correct?

A.

The Golan Heights is a disputed

area between Turkey and Syria.
The Abyei border conflict is
between Iran and Iraqg.

The Nagomo-Karabakh ¢oihictis

between Ukraine and R~

Answer Options:

(D
(2)
3)
(4)

Only one statement 1s corredt
Only two statements are correct
Only three statements are corret

None of the statements are correct

P.T.O.
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Sod3 alns skt BN valpod
Sedndoodnt RdaiRh Brobdadens?

antie® 30, 33

A, e WBIRIOLE
Fooo®

B. e-CNY ;"hesfbaim

C. SOV SPRESF HER0EE,

D. eNaira AN

ov30 erabyrish

(l) A, B 23 D

(2) ADD C

3) B,Ca3D

4) CIID

UK (odngtda® 3on*@d3f) odo wgeednt
83 J0odI oI wod Bedd, wortecs®
BearRezR3y (Archipelago)
HHROIDAD?

(1) Re3d=* (Seychelles)

(2) dBRT®

(3) &ncdncdezt

(4) SdaRE

8 3JNS odnd eEAnd deog, T
RO =Y cod gRE mdﬁméﬁ;@i
wdd)ﬁ@o&ﬁ? '

A, 9

B. =32

C. Doed

D. &9

E. nxoed

39 deBen 708, u‘hnci 20odnn
V303, DA

(1) A, B3 C 303,
(2) A, B,C 3D 3»3
(3) A, B,D 3 E 3»3
(4) Ded3 oo

Paper-I(E) B
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36

37

g oind dedred ‘Wydne 350 (NATO
Plus) 3 Rz oo nvensd?

odD. %E . 0.

m o0 w >
5
-3
!

it :3:;‘%55’ ¢203),00% BB O3NT
eV3TRRY, SO

(1) ©InI) BB Ing

2) IR et I,

(3) oI ey, 303,

(4) I3 20Fp

83 39N am, Bednwh aoes® Bedrdeoddr
3n Ne SVeBBJ), Boeldeod:d?

A.  BFeDINS®
B. &3¢

C. adodw»

D S20J03°

E. cﬁ@ﬁ!ﬁ.‘gsﬁ"
F. aRecf

G oxoflens®
ev30 Hdb&riéa:
(1) 2wt 3»3
(2) o, JnF
3) =t JIng
(4) o 9
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33 Which of the following Digital

34

35

currencies are correctly matched with
the country?

Digital Currency Country

A. Sand Dollar Bahamas

B. e-CNY Nigeria

L. SOV Marshall Islands
D. eNaira China

Answer Options:
(1) A,Band D

" (2) AandC

(3) B, C and D
(4 Cand D

UK handed over Chagos Archipelago
to which one of the following country

recently?

- (1) Seychelles

(2) Madagascar
(3) Comoros
(4) Mauritius

Which of the following languages are
conferred classical language status by
Union Cabinet?

A. Pali

B. Prakrit
C. Marathi
D. Maithili
E.- Gujarati

Choose the correct answer from the
options given below:

(1) A, B and C only

(2) A, B, C and D only
. (3) A, B,D and E only

(4) All of the above

Paper-1(E)_B
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36

37

Which of the following countries are
members of ‘NATO Plus™?

USA
France

Israel

New Zealand

m o QW

Australia

Choose the correct answer from the
options given below:

(1) Only two of them

(2) Only three of them
(3) Only four of them
(4) Al the above

How many of the following countries

share a territorial land border with Iran?

Turkmenistan
Turkey

Syria
Lebanon
Afghanistan

Israel

P MY 0w P

Azerbaijan
Answer Options:

(1) Only three
(2) Only four
(3) Only fin r:/
(4) Only six

PT.O.
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Recently the Supreme court upheld the
1955 Citizenship Act provisions:

I. It upheld section 6A of 1955
Citizenship Act.

[I. The Supreme Court in its decision
upheld citizenship of people who
arrived to Assam prior to 1St
January 1966 from Bangladesh.

[II. The section 6A of 1955
Citizenship Act provides an
opportunity to become an Indian
who arrived to West Bengal prior
to 15! January 1966 from Nepal.

[V. All of the above

- Select the correct option:

(1)

[ only (2) 1II only
(3) T'and Il only (4) IV only

The impeachment process of President

. of India .

I.  The charge shall be preferred by
either House of Parliament.

“II. Article 61 of the Constitution
deals with the impeachment
process.

III. The resolution shall be passed by
a majority of not less than 2/3
(two-thirds) of the total
membership of the House.

IV The nominated members of the
Parliament don’t have the right to
participate in the impeachment
process. :

Which of the above statements

regarding the impeachment process of

President is/are correct?

(1) I only

(2) II only

(3) I, II, and III only

(4) IV only

Paper-I(E) B
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40

Which of the following provisions are
correct regarding Sixth Schedule of the
Constitution?

I. The Sixth Schedule of the
Constitution provides for the
administration of tribal areas.

[I. Sixth Schedule empowers the
state to constitute District and
Regional Councils by
empowering them to make laws
On various areas.

[II. Under 49 Constitutional
Amendment, all the provisions of
Sixth Schedule are applicable to
Tripura Tribal area.

IV. All of the above

Answer Options:

(1) 1 only

(2) I and II only

(3) L II and III only

(4) L II, III and IV

41 Consider the following statements:

A. In India in FY23. the insurance
penetration of the non-life
Insurance sector 1s more than the
life insurance sector.

B. 100% FDI permitted for insurance
intermediaries under automatic

route.

Which ot the tollowing statement/

statements 1s are correct?

(1) A onh

(2) B only

(3) Both A and B
(4) Neither A nor B

P.T.O.
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VI T-TPITE TIENT IR
Do3oENY F3) ToSNPRE VYF)Q
odecesdrt 2022-2023 dord 2025-2026
O30R o, INENS 2O &Ped IV
AeFen 8 VAT oIS odeexd

2RO RVRGADD?

I. PM-NERLP [I. PM-DRDU
[1I. PM-FME IV. PM-DevINE

ev33 erohnsh:
(1) I3»3 (2) 11 3»3
(3) lI3R3 @) IV INI

g3 IINI BePInID), JdDRIWD

A. SnredRziodn S8R 2od HPeobhIBI,
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RBoIRNG?

(1) A3ZHD I

(2) B 33 C 3»3,

(3) A B3 Cang

(4) B 33 D 2»3
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RARIDNT.
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What is the name of the scheme
launched to fund infrastructure and
social development projects in the
North-East region for a period of four
years from 2022-2023 to 2025-20267?

I. PM-NERLP [I. PM-DRDU

[II. PM-FME IV. PM-DevINE
Answer Options:

(1) I only (2) II only

(3) III only (4) IV only

Consider the following statements :

A. The Lok Sabha cannot override
the Rajya Sabha by passing the
bill for the second time and vice
versa.

B. The Legislative Assembly can
override the Legislative Council
by passing the bill for the second

. time and not vice versa.

C. . The Constitution provides the
mechanism of joint sitting of two
houses of the Parliament to
resolve a deadlock between them
over the passage of a bill.

D. The Constitution does not provide

the mechanism of joint sitting of
two houses of the Parliament to
resolve a deadlock between them
over the passage of a bill.

Which of the statements given above

- are correct?

(1) A and D only
(2) B and C only
(3) A, B and C only
(4) B and D only

Paper-1(E) B
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Which of the following statements

1s / are correct?

A. Legislative Council is a
permanent house.

B. Legislative Assembly is dissolved
after the term of 5 vears from the
date of its first meeting.

C.. Legislative Assembly is dissolved
when the ruling party loses the
majority.

Answer Options:

(I) A and B only

(2) C only

(3) B and C only

(4) A,Band C

A bill lapses when

A. It is pending in the Rajya Sabha
but not passed by Lok Sabha.

B. It is originated and passed by
Rajya Sabha but pending in Lok
Sabha.

C. It is originated in the Lok Sabha
but pending in the Lok Sabha.

D. It is originated and passed by the

Lok Sabha but pending in Rajya
Sabha.
Which of the statements given above

is / are correct?

(1) A only

(2) A. C and D only
(3) B. C and D only
(4) A.B.C and D only

P.T.O.
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BTN 83 I0odI DRRTTLON
BRCON.

BYad VIR BRI BIDRD

[. Toxf Qs A. @ dxodIdo

II. Jf Qe B. Sczox
EUACE A el
2dea® Bes

I1I. &&°wes® C. Qoos® Qe

Qe
IV. peesfe Wdeo® D. 3%en® e
V33 erodHRD:

(1) I-D, II-A, III-C, IV-B
(2) I-C, II-D, III-B, IV-A
(3) I-B, II-C, III-A, IV-C
(4) I-B, II-D, III-C, IV-A

Gi-Fi (Are)es® de3) 30325930 2n3

00D BeVINTI, SN

A. Gi-Fi od 8320333 Bedren )3
30nF, 209430 (optical fibers)
308 RoZBS 30320 INT.

B. Gi-Fi od» 2389 d»8 ©odd 100
sS3ReeIT NY IR B3I
BOIRWIRRD.

ol BePdns RDoIPAS:
(1) A 303

(2) B 33,

(3) A 3B a8@de

(4) A “3=>» B o8dn @

Paper-I(E)_B

48 AR o or’ (Snowblind), a}mo\iﬁﬁ
(Mirai), 3553 (Stuxnet) 303 oz L‘g
(Ryuk) 3@n 39N odaa@tﬂdmn&ﬁg

2 RRS? Q
o

(1) Rezof doxreso® (Supercomputer)

(2) SecFSco® (Malware)

(3) 3 pc 33 (Cryptocurrency) |

(4) @eea® wo? (Drone attack)

2883450

49  RwodR BevdRIR), SR

A Seartohd weoss HHR HPRA
B0 (D3R® BV, wITieom)
2wl 0td (8) BIT BBIRIBY
WPU3D rgdeons. &

B-. wﬂg@ FIH 08 DIB5® I, DoTR ?;;

' Adgeode. . %

O

)C.  2»T3cod v, B8, 30::@. =083

Be8e wedn DPodT WRNOHTE

Dewy 35 2023 &R D HLRAD.
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iol) 2,00 HBePd I3,
(2) VB> Bevdrsh 393,

() Q0 Bevind -

% 2883450
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46 Match the older names of Andaman and
Nicobar Islands with the newer ones.

Old Names New Names

I. Ross Island A. Sri Vijaya Puram

II. Neil Island B. Netaji Subhash
| Chandra Bose

Island
ITI. Havelock C. Swaraj Island
Island
IV. Port Blair D. Shaheed Island
Answer Options:
(1). I-D, II-A, III-C, IV-B
(2) I-C, II-D, III-B, IV-A
(3) I-B, II-C, III-A, IV-C
(4) I-B, II-D, III-C, IV-A

£ =
|

Consider the following statements

about Gi-Fi (Gigabite Fidelity)

technology

A. Gi-Fi is a wired communication
technology which uses optical
fibers to transmit the data.

B. Gi-Fi can transfer data for very
long distances i.e. 100 kms

Which of the above statement/

| statements is/are correct?
(1) A only
(2) B only
(3) Both A and B
(4) Neither A nor B

Paper-I(E)_B

48 The terms Snowblind, Mirai, Stuxnet

and Ryuk are associated with:
(1) Supercomputer

(2) Malware

(3) Cryptocurrency

(4) Drone attack

Consider the following statements:

A. India has won a total eight (8)
gold medals in the Men Field
Hockey Summer Olympics

(including the British rule).

B. India has never won the FIH

Hockey World Cup

C. The Indian Women Hockey team
clinched the Women's Junior Asia

Cup 2023 title for the first time.

How many statement 'statements 1s are

correct?

(1) Only one statement
(2) Only two statements
(3) All the statements

(4) None of the statements

P.T.O.
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L P038 Beso &AlRmng B3e 3o
Bowdd (horizontal tax devolution) odbd
WIS IRIToBRYR TowodrBod &3
3INI BeRINI, BV

A. 33 Beewmd wolemd wlpobdd)
3ot Fod3, (Tax efforts) Iy
2DBAWRRODI. |

B. 153¢ @05 ¢olendd, en3
003 INIToBNRYR AeBend
230 T3 (Weightage) odo
143¢ Beozord e20dRmBd Jedrs,03
3D ay. |

C. Oy 6§§So:h) DTN mﬁxﬁﬁf
330 wdohd wkh3a.

D. onmged3 S3co@8nYA3
ABPRIZ I nodaridaé
(efficiency) esEod3 J3B0BRLN
oRIo3ond o3 (shift)
eVOERAD).

edI BeRIRID) PP XB?

(1) AR B I3

(2) A, C 33D 313,

3) B &) C 33,

4) A, B 33 C 303,

RT3 BOETIR DOHRNPT R0WodJBoS

39308 BeRENII, SO

A. 8003 SeozoRd, REZ30DI 3% ad
B0, 38D I3,

B. 309 3o DB ION @

5TETTL3T.

C. ad Bedead ST dﬁ@ﬁféﬂmﬂ&
5TV

D. epeddodd ad ¢333300
S0L30b, BRI,

IxOI BePRYd oI BOoIOAS?
(1) A 3»3

(2) B3 C 3»3

(3) A, C a3 D 3%3

(4) B,C 3 D 3n3

Paper-I(E) B
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VBTBNRIIY, De3-1 ) Ted-118Y
3TN JeBPNT,

3 -1 Se3-11
A. é)tg TORESNZ — Ded Dexansh,
ROBDND TOREWAB FE S
B. 8 m3c2d8 — 5073, Wi,
SOBINGD
C. é)tg 209N - @tﬁ&i_}ﬂ éiiea.
ATVDND TP eFBRCT
D. 30t3® bR — edece® TR,
(a59RN
wumﬁdﬁaiﬁﬁeg)

e 3083003 RBecdnId o=, BeeBRD
ADoIPN BRODRQEI?

(1) 3R 20t

(2) 3R VD

(3) B0 e

(4) edI anFhde @

83 39NI BePINTI, IO
A. 2016-17208 2023-24 T 230D
030 Sﬂ&} 3 3, Tep) VD

2022-233¢ I 1ogy IR, -

30T,

B. 733 33, §a ew3d3ne IR,

- eudeRed dBe3nIY 13 Fa doc3
(Agri-cells) RYJ, E)m&?atﬂ.
C. 030 &,Tc3, Toww® W3
abmm% - QI B33 %ﬁnm %aa
e33RT ooy RN,
D. 22033 2t 3& BF) NI 200%, 3
©3,, wWoR, 305030 @8, 3,0,
AND D) o JePeNFo3D

2T GU3IRD 3333 508,08 B

TOCD FPONEI.
DedI BePERID o) RDoIPAB?
(1) 280 2o (2) ES© V@D
() 330 e (1) o Toeb,
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50 Consider the following statements in

51

relation to criteria used in horizontal
tax devolution by the Finance
Commissions (FC) of India.

A. Tax efforts was introduced during
the Tenth Finance Commission.

B. The overall weightage given to
~ need-based parameters in the 15t
Finance Commission was less
than that of the 14" Finance
Commission.

C. Forest cover comes under fiscal
disability principle.

D. Over the years, there has been a
shift from need-based parameters
to equity and efficiency based
parameters.

Which of the above statements are
correct?

(1) A and B only
(2) A, C and D only
(3) B and C only
(4) A, B and C only

Consider the following statements
related to the effects of deficit

financing: _

A.. Deficit financing, decreases real
wage rate in the economy.
It causes current account surplus.

B.
C. It leads to appreciation of
domestic currency.

D. It creates deflationary situation in
the economy.

Which of the statements given above
are correct?

(1) A only
(2)° B and C only
(3) A, C and D only

(4) B, C and D only

Paper-1(E)_B

52

53

Csbittar

Consider the different types of goods
and related examples given in List-|

and List-II respectively.
List-I List-11
A. Pure public — Street light,
goods public sanitation
B. Mixed goods — Food, Clothing,
(Quasi Public) Automobiles
C. Pure private — Elementary
goods education,
primary
healthcare
D. Merit goods — Toll road, Parks

(Private Parks)
How many of the pairs given above
is/are correctly matched?
(1) Only one
(2) Only two
(3) Only three
(4) None of the above

Consider the following statements :

A. During the period from 2016-17
to 2023-24, India’s agricultural
product exports reached its peak

" in the year 2022-23.

B. India has established 13 Agni-cells
in foreign countries to promote
export of 1ts agricultural products.

Pradesh. Punjab &
Maharashtra arc the leading
agricultural states in India.

D. Five products ~uch as basmati

rice, non basamati rice, sugar,
spices and o1l mcal account for
more than 30 pcrcent of India’s
total agriculture exports.

Flow many of the tollowing statements

aiven above are correct?

() Onlyv one (2) Only two

(3)  Only three (4) Al four

P.T.O.
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35033008 elecTro30N I e

aicdsatémid af".% ma%ﬁeﬁ PO B
Becnesnmm3d (DTt DI BT
ma:aﬁ@d; BRTVDIDBV)?

(1)
(2)
(3)
(4)

55 =ond

SR

ol
SelAY)
e

S3NY D303 YNNI BeLINII,

2DNON:

A.

HBRJTN de2Rend TTBRD
8¢ DI P 53R
iRoBNY T3 0NV (DTRR
neegendd) ) w3oege
needd 2ed3 Eﬁﬁuéﬁ@ [PRE
300RVNI) 30D,
300030dx¢ 3300 INTISNT
ﬁagaa-b 2ed B3 DR DB3A.
&S00, A TN [ane wed
DD DTOJDQ.

Wormyen & Somx) 3dedncn’d
BTN, Tife BDIB B3
300390 IT.

DI rieod R I3y eI
DBND FUIBII, D 233€
SRBDITT o8, DeRDNS TS
&HBIVIT JToRI® JIIdrir
2B300IPNTY, ©To0 Toadodhd
NS B8 50eoNT.

2D DR VeV ROAIPA?

(1)
(2)
3)
(4)

romd 3603 303 RPN
B> Bevinsh wed RO
21000 Beodrch I3 BOOIHRNS
olnz Bevirdo ROCIPAY
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28

56

S7

O )|
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ue3NE DR levod evds
RICH ag Koo FO,RINTFS DT
3e3MmYodNG.
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Soolnedod 23R

200302 3:NT.
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33 erE3E VoD, B3eerd 33
3DRew D) mﬁsﬁmzﬁﬁzﬂ

e033 erohR:

(1) A DD B In3

(2) B 3) C I

(3) A D C In

(4) A,BHC
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55

To travel from Karnataka to Mizoram
by walking, the minimum number of
states you have to pass through would
be (excluding the origin and the
destination state):

(1) Three
(2) Four
(3) Five
(4) Six

Consider the following statement/

statements about ocean currents:

A. Cold currents are usually found

-on the west coast of the continents
in the low and middle latitudes
(true in both hemispheres) and on
the east coast in the higher
latitudes. the Northern
" Hemisphere. |

in

B. Coriolis force influences only
~wind system and has no role in
influencing ocean currents.

C. Benguela current is a cold current

in the west coast of South
America.

D. The mixing of warm and cold
currents help to replenish the
oxygen and favour the growth of

planktons, the primary food for
fish population.

How many of the following statement/
statements is/are correct?

(1) Only one statement is correct

(2) Only two statements are correct
(3) Only three statements are correct
(4) None of the statements are correct

Paper-I(E)_B

29

56

S7

Which of the following statement/
statements are correct about the Polar

Vortex?

A. The Polar Vortex is a large area

of low pressure and cold air over
Earth’s North and South Poles.

B. Polar Vortex is associated with the

Jet Stream.

C. A weak Polar Vortex allows the
cold Arctic air to move
southward.

Answer Options:
(1) A and B only
(2) B and C only
(3) A and C only
(4) A,BandC

Which option correctly defines the
following?

When two hurricanes spinning in the
same direction pass close enough to
each other, they begin an intense dance
around their common center. If one
hurricane is a lot stronger than the
other, the smaller one will orbit it and
eventually come crashing into 1ts vortex
to be absorbed. Two storms closer in
strength can gravitate towards each
other until they reach a common point
and merge. or merely spin each other
around for a while betore shooting off
on their own paths.

(1) Kessler sxndrome

(2) Fujuwhara | ttect

(3) Medicances

(4) EIl Nino Southermm Oscillation
(ENSO) g

P.T.O.
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58  2INS Beodrddy SOredn:

A. 3oeedd) 33 oIt wIBe
R Jed 1991908 803N
Dd3adena.

B. 33eudcdd 030N wdTE
V3R it IFS DI I3
2.5% d=p, 3, |d.

edI Bewdndd cIRPP) BOoIRAD?

(1) AR

(2) B 3n3

(3) A DD B oPBe

(4) A ogs» B o8de ©o

59 23503833 3odd INTEYIY) 83 9N
oded §obd3?
(1) dAnSDze
(2) emSmyw
(3) R

(4) Do

60 B0cdT OTY Fa BedIeIZRVrmA
LTIV TD R9cobaen Tesrdeody
TOSNToAE ToF3, QY BI0O -
3INIJNID oIJHD?

(1) eo*rIo
(2) Sozuen

(3) ¢8O
(4) oRRoeSo?

Paper-I(E) B
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ol 2577 T, edITY 25970 oTR
roPHnen DxzeodnRs D) Leseodn
Qotd SIS BevdD?

(1) Sedode 2Py Rad,eds
(2) 2TRESBe 25°7 D), 093
(3) Sedde oPg Red,ed
(4) e 2397 Bad, eI

©30ed3 ZIRIY, BowoRRBod Bs IvodI
BeVINII), BONREI:

. 33 200z0R3D BB 2t =307
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SReRRRD, SRA Ded VD
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58 Consider the following statement/
statements:

A.

The actual area irrigated by the
tanks in Karnataka have shown a

consistently increasing trend since
1991.

Irrigated area in the Karnataka

state constitutes only 2.5% of the

net sown area.

Which of the following statement/
~statements’ is/are correct?

(1)
2)
- (3)
“4)

A only
B only
Both A and B |
Neither A nﬁr B

- 59 The Town Administrations during the
_ period of Satavahanas was in the hands

of?
(1)
a 2)
3(3)
(4)

Nigama Sabha
Agama Sabha
Samithi 4
Vidhatha \

60 During the period of Cholas, the
landlords established local community
associations for agricultural activities.
‘The name of the association is

(1)
(2)
3)
(4)

Alumganam
Nanadesi
Cittirameli

Ainnurruvar

Paper-1(E)_B

31

61

62

In which Buddhist Council were the
two groups Buddhist i.e. the Mahayana
and Hinayana recognized?

(1) First Buddhist Council
(2) Second Buddhist Council

(3) . Third Buddhist Council

(4) Fourth Buddhist Council

Consider the following statements

regarding Ashoka’s inscription:

1.  The rock edict 3 refers to officers

-~ going on tour every five yvears to

-instruct people in dhamma.

2. Riummindei inscription mentions

that the village of Lumbini will
get Tax consession.

3. Rock edict 11 refers to the gift of
dhamma being the best of all gifis.

Select the correct answer from the

options given below :
(‘1) 1 and 2 only
(2) 2 and 3 only
(3) 1 and 3 only

(4) All of the above

P.T.O.
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2323t (RT3 FRETY) YTOPAT VTR’
(Vishvasya) odng)dd, Rowwodan?

ﬂugd ﬁd)aﬁda:

(1)

(2)

3)

4)

A D3INEND D) VI3
3TN RN Zo Haobd) D)
V8033 FPHRBIIY ABDIJHTD.

. arh esmRod 3B RANI, AP

rdodI), Beods.

ath 10038 THed ,08RIR
o9 33 RO, BedT.

QL uga;?ﬂda’a 3032 30

BoedrodnAd  (Blockchain
Technology Stack).

0003 BePdndy SO

A.

olndecdodha® Swnd mﬁmﬁ 205
(The European Free Trade

Association -EFTA)  oxfeRon®,

623073 o SORE DI
.P&&.gufmﬁmseai e3030° RHEDD
RoDEIZoIAT.

203 D) odndecdoda® Bnd
29,390 ®ox (EFTA) 3 o0
A PET Toewrodd wH0T3E,
(TEPA) 3% ®0333.

2ed3 oIna BePd/BePdnD
2003AT/3?

(1)
(2)
3)
(4)

A 353
B 3»3
A 33) B R¥8an

A ©ogm» B odnznde ed

Paper-1(E) B

65 DT, S30obo3 (EVM) 23) Fpetsos
Scdpodewet JeTo® rREF 3odbes
(VVPAT) 3 21} 83 3wob3 odnad aewd/

BeLIND RD0IPAE3?
A. EVM gy, 198289 Iede wndnr
w98 RRBRADD.

B. EVM 23 VVPAT R odnlde
2O ;Jﬁaéae'ﬁﬂmmzéaﬁ
SRZAVHDY.

C. EVM ridd) 230963 thaosdrdd
WIROTVHDO.

D. 99 goa® 330w (2013) 3O
BRPE e mﬁaiaamojaci’ 3eDHES
QEE 0B, BIIMIPTOA 203

oo eraleen (ECI)  VVPAT
3, BOWCLAD.

eV33 ez

(1) A DD C Ing

(2) B 33) D 3n3 :

(3) A D3 B 33
(4) C S D 303

66 Ted @3 0d (process), BTIROE

280D (process) mH2) ZRRE HIDE €63°

QnB, Ro2oH: =)

038 esad " - -

(1) 22odc:. = - 3 = IQCESIIL,

Q)5 dmo: - ¢ Ry, SORISENVTO
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(3) &szé- 8 WPB
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63 Reccently, the Government of India
launched Vishvasya. What is it related

to?

Answer Options:

(1)

(2)

3)

4)

It provides holistic and end-to-end
support to . artisans and
craftspeople.

[t aims to reduce the pending
income-tax litigations.

It aims for repatriation of
antiquities to India.

It is a Blockchain Technology
Stack.

64 Consider the following statements :

1A'

The European Free Trade

Association (EFTA) is the

intergovernmental organisation of
Iceland, Liechtenstein, Norway
and Switzerland.

India and EFTA have signed a
. Trade and Economic Partnership

Agreement (TEPA).

Which of the above statement/
statements is/are correct?-

(1) A only

(2) B only

(3) Both A and B

(4) Neither A nor B

Paper-I(E) B

65 Which of the following statement/
statements are correct about Electronic o
Voting Machine (EVM) and Voter\)
Verifiable Paper Audit Trail (WPAT)?g

A. EVMs were used for the first time Q0

a o0
in 1982. o
-B. EVM and VVPAT do not require
any external power supply. '
C. The EVM can not be used in
simultaneous elections. O
N

D. VVPAT was introduced by thesp
ECI in compliance to the™

pronouncement of the Supremegn
Court in Lily Thomas case (2013)™V

Answer Options:
(1) A and C only
(2) B and D only

é) A and B only a
(4) C and D only "
™M
8y
84
66 The Doha process, Istanbul process and™N
Moscow format are related to?
Answer Options:
(1) Peaceful and prosperous
~ Afghanistan O

1))
(2) WTO agreements and declarations e
that address compulsory licensingg

(3) Ethical wuse of Artificial®
N

Intelligence

(4) Climate change negotiations @
33 P.T.O.
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e JAeBTOT BeVINID 03I T
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(1) A DD B 33
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(3) B 3n3
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S
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69 oRT3T Beod SPTHEY BowoPrEod s

IINSINIR, SORdR:

A. Rooded ooz (Repurchase
auctions)

B. 20253 DR Sodde] (Treasury
bills market)

C. dolpodd D) PToE, TF® gk

ao®dod» (Discount and finance
house of India) -

D. mt3dse Beou®nd (Satellite
Dealers)

2edIINI AR BeosoRd RToBEIRwN
SRR RTO3T?

(1) A, B33 D 3%3

(2) B, C 32 D 313

3) A, B 3 C 303

(4) DedI QOJp

70 R8s &5 _ct3o® (GDP Deflator) r

R0200PAT B3 3INI BeLINII, VONRE:

A. RS BF 30, RT3
Beoth88 B8 IRBITONG.

B. @i IR3 Jdne 28 (mifoin
estRod) P 43 LBSNRS Badod
I DTO3ITNT. :

C. &0 IR DI, 2RO
[z BB DTN,

D. 28 25 ce30° ), DRI,
R, S dodnvon JDBSEAED
WIRRTVIL.

DedI Bewir<dd odnF) ADoIPAS?

(1): A 23 B w3 '

(2)§ B 23 C =»=3

(B)F C 3 D =03,

(4)F e ouzp 70

i PT.0.
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Consider the 3 lists come under the
Constitution 'of India and the related
subjects given in List-I and List-II

respectively.
List-I List-11
“A. Union list — Economic and

social planning
B. State list -
and commerce
Audit of the
accounts of the
Union and of the
states

C. Concurrent list —

- How many of the given pairs above

is/are correctly matched?

(1) Only one
(2) Only two
(3) Only three
None of the above

Consider the following statements :

A. The coexistence of budget deficit
.and trade deficit is the problem
of Twin deficit.

B.” The coexistence of fiscal deficit
and current account deficit is the
problem of Twin deficit.

C. The coexistence of revenue deficit
and primary deficit is the problem
of Twin deficit.

Which of the statement/statements
given above is/are correct?

(1) A and B only
(2) B and C only
(3) B only

(4) Aonly

Paper-1(E) B

Inter-state trade

35

69

70

Consider the following (markets)
related to Indian money markets :

A. Repurchase auctions.

B. Treasury bills market.

C. Discount and finance house of
India.

D. Satellite Dealers.

How many of the above is/are
considered as money markets?

(1) A, B and D only
(2) B, C and D only
(3) A, B and C only
(4) All the above

Consider the following statements
related to GDP Deflator :

A. GDP deflator i1s a measure of rate

of inflation in the economy.

B. It is the ratio of GDP at current

prices to GDP at constant prices.

C. Nominal GDP is equal to real
GDP in the base year.

D. The GDP deflator is used to
convert nominal variables into
real variables.

Which of the statements given above
are correct?

(H) A _@Pd B only
(2) B and C only
(3) C and D only
(4) All the above

P.T.O.
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89 3INS BePInID, Soriedw:

Be@d-1 : 12033 2t FIZobd Ix°
(cess) D) BedIDd Dey (surcharges) Rd
dcor, Iy Uy IsETNY IR
BoBORDIJHDO.

BeQ3-11 : DER NVGeBRVrN FRQWS
BT DR JeHFO 3NN 4T3
%30&@3::] 270 23 2713¢ SRS Fod
DIwAeod 3RS Toud AHAoT
BRTTOPoDO RIS,

:br:a_ai BeVINOT JowoHdTod B3
3INIJIRLd odnJHd BdadRAT?

(1) Tewd-1 3 Jevd-1l dTBER
ADoONS, DD BePs-11, Bewd-13,
200 HITEB eI,

2) RBevd-l 23 Bevs-1l STE®
BOoIRAS, D) Se9s-11, Seod- 3
Zd01ed HITH ABDHDO.

(3) Bevd-1 3mAd &3S Bei-II
ZBIRAB.

(4) Be93-1 ROoIPAD &30 Be9d-11

Sm_-lﬁd.

nger-l(E)_iB

- o e

12

‘DRI 33’ oleexdn TowoddBod 8

39N BePINTI), DONEIRD: -

A, B 33 cdecesodn Sdve RIS,
353 D) FwdeITHT Died3

oS Inls~mlevirtalal

B. <t Toowet’ D) m;imiﬁs’ QDOW

QTR PVBOIRCTINTRY, 2o9TU0RT.

C. RIBIDA evesen, REIT® RNE°,
I3 o3, I, SoBmEedR
03ReIRII), TRDB,E cﬂfam;'iabeg
AOCINRYRRAT.

D. 33903 DHibve FEvcbmeed,

" 23e83 eTPe 23ees qﬁ’ﬁaiﬁfl
O3pex3ndR), ToweP olReESobhd

DOCIRPYRITAT.

Ded3 Be3rLd oI BOTONES?

(@) A.B 23 C 303
(2) A. B BIACK ]
B) A-C
4) =

P.T.O.
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11 71  Consider the following statements : 72 Consider the following statéments in
T : <
} relation to ‘Mission Shakti” scheme :
, Statement-I : In India’s federal finance @
3 m .
system, cess and surcharges are not A. It is an Umbrella scheme for ¢y E
shared between the central and state safety, security and empowerment E
’ governments. of women. i
Statement-II : Articles 270 and 271 of B. Sambal and Samarthya are the 2 ?}
the Indian Constitution exclude cesses sub-schemes of Mission Shakti. :I;
e - levied for specific purposes and @
."I'-; - - . m
l surcharges from the divisible pool of C. The existing schemes, such as ¢
r taxes. Ujjwala, Swadhar Greh, Pradhan
i ' Mantri Matru Vandana Yojana
o4 Which one of the following is correct
& ; have been merged under
Ak in respect of the above statements? O
& Samarthya scheme. Tg)
7 . -
2 ! (1) Both Statement-I and Statement- M
f - ' D. The existing schemes, including €0
II are correct and Statement-II is | i s
l % soiiati explanation for women helpline, Beti Bachao Beti N
st Statement.-]: ._ : Padhao have been merged under
:r J Sambal scheme.
- (2) Both Statement-I and Statement- ;
II are correct and Statement-II is Which of the above statements are O
iy
not the correct explanation for correct? <
™M
Statement-1. @
(1) A, B and C only 0
(3) Statement-I is incorrect but &
- (2) A, B and D only
Statement-II is correct. i-;ﬂ
_ ‘ 3) A and B onl
(4) Statement-I is correct but ( Y
Stﬂtﬁmﬂnt-ﬂ i5 il‘lCﬂI‘[‘E:CI. {_].] All the ﬂbﬂVE
Paper-I(E)_B | . LT P.T.O.
Pt —— ' ] TR S R Lo T
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73  a3ednt wRobIy ‘@dobLIT rmome”

(Darien gap) odna FY3Q?

A, INIn

B. 2woodaln

C. DI

D. 8w’

IR @R &od,cdbold oy

V3T, DX

(1) A B

(2) B3 C

3) C33HD

4) D3R A

74 W, IR)o0¢ dodedond (Small

Modular Reactors) 27} 83 S0od3 O,

BePd/BeRInD AD0INT/R?

A. 3, IrEy00* B03RFTIRD
(SMRs) &3 odnes*rt 300 MW(e)
SR Ay TRDFE DI, CADleIALA
T, 38010 Dol RTINS,

B. Qe olne 53 (hybrid energy
system) odd IDe3dDTBITT
oz, ondwodrt SMR nehd
BrodEIRRZHDE.

C. 2024-253¢ zd3 erodIodbdd,
2003° SpRR/UTT DoIRFT NI
FRED Soohd Ind; Jen3riocdd,
ox DIy TN ook,
AR BO[oR) RT3 THET)
T2 4

esody e

(1) 200 Bev3 2n3 ROCINT

(2) VB BedrD In3 ZoaIPAS

(3) R BeRdnD Zed ZdobenS

(4) oIna BePdndn RooPNY

Paper-I(E)_B
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73

76

77

R ex® Sedodwet s Sedwot
(SVOM) enanm33y, odnd dednied
ot3oden ﬂ@%@ﬁ&hﬁ?

(1) e DD o033 dedadn
(2) B, D) @O

(3) =Reef DD obo.IFF..
(4) T DD Wewo

S00BI We3RII, JOReI:

A. B
B. et
C. 2Znemres®

D. R0 es8edode

See0n aa’g ne3nd ﬁe:fg ePD® 9L
(e9500230) Weodr? RBODRY, BRODE?
(1) 2.0t Be3 IN3, -

(2) TR Be3nsd I

(3) et Bednsb I3,

(4) o e, We3nH

03nx T 3c0d INTNF 0INIVLR,
(UNESCO) @ zmme3,3 Snond
(Creative Cities) 3t3°3°e3€) Rede3?
A. Tﬁrﬂéaﬂ)ﬁa- 2oRe3

B. 3o8ncE® - T0&Z,

C. o3 - Roned

e I - 1
F =0T ﬁ;rjiﬂé;,

39 Acmend &od),dodt B0 odnd
eU3TR, SO
(1) A =2 C Zw3 3doINY
2) A =% B 2R3 0cing
@) C -5 D <»3 2woinhd
@) B = D 293 Rooinhd
P.T.O.
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‘Darien Gap’ was in news recently,
which is located in:

A. Panama

B. Colombia
C. Venezuela
D. Ecuador

Choose the correct answer from the
options given below:

‘(1) Aand B
(2) B and C
(3) Cand D
(4) Dand A

How many of the following statement/
statements is/are correct about the
Small Modular Reactors?

~A. Small modular reactors (SMRs)

are advanced nuclear reactors that-

have a power capacity of up to
300 MW(e) per unit.

B. SMRs could not be paired with

the renewable sources in a hybrid
energy system.

C. In Budget 2024-25, Government
of India announced that setting up
Bharat Modular Reactors is
restricted to the government sector
only and no private sector will be

allowed.
Options:
(1) Only one statement is correct

oy

(2) Only two statements are correct

(3)

(4) None of the statements are correct

Only three statements are corret

Paper-1(E) B

39

75 Space Variable Objects Monitor

76

77

(SVOM) satellite developed jointly by:
(1) China and North Korea

(2) Russia and Iran

(3) Israel and USA

(4) France and China

Consider the following countries:

A. Egypt
B. Israel
C. Jordan

D. Saudi Arabia

How many of the above countries have
a border with Gulf of Aqaba (Aqubah)?

(1) Only one country
(2) Only two countries
(3) Only three countries

(4) All the four countries

Which of the Indian cities are included
in UNESCO Creative Cities Network?

A. Gwalior - music
B. Kozhikode - literature

C. Chennai - music

D. Varanasi - literature

Chnnséﬁ{he correct answer from the
options given below:
(1) Only A and C are correct

(2) Only A and B are correct

(3) Only C and D are correct

(4) Only B and D are correct

P.T.O.
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78 PM E-DRIVE i Towo®2Tod &3

ZIAIJNII, JOR:

A. @-tR-Qeor® (B B3me®])
B. w-woandsf

C. @8R

D. @-Wsnsd

g3 DedI INeNF) oY) 83 DedI
Bed® wdohd vxeToNS?

(1) DedIJnd P el wotd
(2) SedIFJre 3 TS0 STVD
(3) DeAIJnS F deS0 I
(4) edI Q0P

79 Rof)d RBRIT SorSod e 3e3ed

(SFIO) 1 Rowopatod Snods Bevdneds),

JONDAD:

A. R0RII B33 HACHDT BB
mm&ﬁmﬁtﬂ'.

B. 22003 3%e00 Bz sHos,oodd
B0hd mobe JISe LRIV,

C. earh &or sV D) Tozy RBETT
odRFne acadod decddod DHedn
ARoHNL, 3383 SRR,

D. SFIO &og, djcdon 3330dobIh
Th TWedF 2e3dONPS3.

39N BT &odH,dord T o3RG

V3T, esdA:

(1) 20t 23 Tdadnn

(2) otd 303 ZoaiendS

(3) 2w In3 ZooienI

(4) 203p ZdobenS

Paper-I(E)_B

80 FFuEBTd SwcomoodI FOBING

81

82

w, ,ore FexdB (RVSP) 330bodb)
B0 81 BOBI FIRIR, JorEd.
A, duocdhPB, Worded meRPo3T B
B. 3r38rtd, 2R3 23

C. IV®IY, dreentd B

D. 73, pedeerd 2

391 BT 203,00l TD 03T
VITRRY, esOX:

(1) 2o S»3 BoIRA

(2) 2TRD B13 BdDobPNSS

(3) R I3 FdDoIPNS

(4) Q0Fp IDoIAES

ageldnt R080dd7 4B (Four Nos)
FOTBRCORR) Bpo3: ok Te3rd
©9,B0PRTAND?

(1) B oo (2) T3 8rdOIP
(3) BWwe (4) USA

83 [oAOIT 03NT DEVE/TJERIN D

JdaieAe?

A. 23000 IRDIG, ;Bhord Hewd,
SeBe3en RORED 22,300 3)On<d
gm0 35,800 3chocetdvtRYR)
DZBBIDS Zheeod §33 evaEn s
(Geostationary) 33 RIS
Hﬂéﬁiﬂjﬁﬁﬁd& %n’..raﬁ%d)w‘ﬂﬂ
nr3odes odeexdodn &ed) wR)

\ e

B. [SRO (w7nc) ARSodes ewdxfron
“eicernl a0 (aPder) S
(Drocue Parachute Deployment)
Ao ¢ 2oednd), SBRT.

C. SSIV —233f 98nn <S03
g - 0B oIS TBIIIYN

VT -

(1) A (2) A DD C Ing

3) B (4) B DD C 303,

P.T.O.
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Consider the following with reference.

to PM E-DRIVE:
A. e-two-wheeler
B. e-ambulance
C. e-trucks

D. e-buses

Which of the above categories are
eligible under the above scheme?

(1) Only one of the above
(2) Only two of the above
(3). Only three of the above
(4) All of the above

Consider the following statements with

reference to Serious Fraud Investigation
Office (SFIO)

A. Establishment under se'parate Act
of the Parliament.

B. Work under the Ministry of

Finance under Government of
India.

C. It investigates the matters on the
request of any department of
Central Government and State
Government.

D. The headquarter of SFIO is in
- New Delhi with five regional
offices.

Choose the correct answer from the
options given below:

(1) Only one is correct
(2) Only two are correct
(3) Only three are coirect
(4) All are correct

Paper-1(E)_B

+1

80 Consider the following places* which
are having operational Registered
Vehicle Scrapping Facility (RVSP) in

81

82

Karnataka.

A. Vijayapura, Bengaluru Rural
district

B. Koratagere, Tumkur district

C. Narasapura, Kolar district

D. Mummigatti, Dharwad district

Choose the correct answer from the
options given below:

(1) Only one is correct

(2) Only two are correct

(3) Only three are correct

(4)

All are correct

4B (Four Nos) movement was in news
recently, originally it was started in
which country?

(1)
(2)
(3)
(4)

South Africa
South Korea
Canada

USA

Which of the following statements
i1s / are incorrect?

A.

The Gaganyaan Programme
envisages undertaking human
spaceflight to Geostdtionary orbit
at an altitude of approximately
22,300 miles or 35,800 kilometers
directly above the equator.
ISRO conducted - Drogue
Paracttute Deployvment Tests for
Gaganvaan Mission.

SSLV rocket 1s i1dentified as the
launch vehicle for Gagariyaan
mission.

Answer Options:

(1)
(Z2)
(3)
(+4)

A only
A and C only
B only
B and C only

P.T.O.
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Paper-1(E) B

BV 2RV J DYE Rod UFd3I
3 WA (AQEES) (2dgaaa®)
223 MDI BeR/BeRIRI, SdDRd.
A NRQYRAIT® ob) FEd Rogad
ewd Fregoend.

B. ovdRm Towogdne Ropesd DI
eontd3 I0obhndII 2 odne
S,39,03,8 @330 3, ;B3
0TRNII), WIEMTOIT.

S0odI obesd Bevd/Bedn 3HNI?

(1) o 203

(2) o %3

3) o DD odde

4) o =R D oTERY

B S=eli om) Sevdnsh TOADY

A, =c23 83308 23derdmeitha
et Wdn Towogzedss.

B. 23 o’ aecomend P03
(S3ae3 ed<fRreot® $3Ie3) RBI
3 SR BEFD TWHEITAL.

C. 0mIDND egoe &2-Dend
(T-bills) 2203 e T BLTBZ
weBTd IRTIEE oD DFESD
o8 LEIND.

euZ8 erahn<d:

(1) 230 wod Devd

2) &30 IBVRD Bevdre

3B) 380 D BePdRD

(4) Ded3 ceFd o

42

| 85 39N3IniY Ldrdmn Ty B3abiy
o =

Bred3odd) 12333 mi D30Dh33 ‘ol
e’ PV, TowoddhBod o)
ROIRAI?

[. Necdnu 'mimm‘mw
BRCAAVTOD LT3 m;é’ 230HIT
R033J08 2RIBDHI BRATWoDIY,
*aséqismﬁﬁ OARER OB VR
S BWDRCYITD.

I[I. ©Jcdsr E‘aﬁ;aﬁaadadan'
BReAAT03, 03T mi 230DHID
RAToDLI, 3TRIDPDY DR
DS0® JD3COIN DA, INRBDIJHDY.

T eedmnd Bodpess, Beedrrod

22038 ToDGII DRI
m:‘% 330D AI3 dod3T:deD oJHTe
503D, TR HS0DZOT DPRIQ.
‘_“ -
IV. ©3cdsn T, 3030
—
 Bredu803 o373 10 I wen
SReTeodI, DTIRITIeD 230
T30 TR 230HID 83 Dedod
—t ;

Zodh INd aAY.

P.T.O.
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83 Consider the fnlln\!:ng statemcnt/ 85 Which of the following 1s correct o

L] - =

statements about All India Quarterly
Establishment based Employment

Survey (AQEES)
A. The AQEES has been taken up
- by the Labour Bureau.

B. It provides quarterly estimates
about the employment and related
variables of establishments in
both organized and unorganized
segments.

Which of the above statement/
statements is/are incorrect?

(1) A Only

(2) B Only

(3) Both A and B
(4) Neither A nor B

84 How many of the following statements

is/are incorrect?

A. The yield of a bond is inversely

- - related to its price.
B. Liquidity Adjustment Facility is
an important monetary policy tool

regarding the ‘Pocket Veto Power ufg
the President of India’ in cumparisunfﬂ

to American President?

I. Unlike American President, the
President of India can keep thecj
pending bill for an indefinite i}

period.

8834

[I. Unlike American President the gy
- President of India neither rejects
the bill nor returns the bill for

reconsideration.
&

. III. Unlike the American Constitution, ¥’

the Constitution of India does not %
give any time limit to theg
President upon the bill. N
[V. Unlike the American President
who has to resend the bill within

10 days. Indian President has no

o RBL. such time bound. 5

C. Treasury bills of T-bills are capital g
market instruments which are Answer options: e
long term debt instruments issued @
by the Government of India. (1) I and IV only N

Answer Options: i

(1) Only one statement (2) 2t anel 11 oy ‘I

(2) Only two statements (3) L If and IV only

(3) Only three statements |

(4) None of the statements (4) L II, Tl and IV

Paper-I(E) B 43 P.T.O.
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86 SpJot Dkees® Fpermo D303 RwodI | 88 (RU3 RV B3 RwodI o oleexnsh
- BeRdnIy, Joriedd: 20030 2§03 oS FodbedRrdechnt
3 A. %Eé,ob‘ﬁ u:)d.'es‘?l DRV, 2,00 30T 383N RoodecINnRoRR?
™ Soodhd oleczSoinAd. A. GOBAR 33° olecza
g B. «am mioidzend nd o 030 B. PM-JIVAN o3eczso
(N MINYY TS =30 eI C. PM-JANMAN odneso
R RBI), DS Hortode D. &% (MISHTI) e
V303 NR F,Be3TYS WY E. R33° (SATAT) 2,653°
RRNLRY RITTN SPHRIBDB | 38 erohyRed:
| o roDdodbRY Beohd. (1) 208 2ot 393,
| ol C. ™D Sowohdng RBeabueodr (2) a8 33
| ™ B8R ¥39S Fulos® ddext (3) e 393
o0 :{@Jm?_p Eoim 0JReBT 030y, 4) e, m%
N RERRTIDD. _
@ INIYIQ O, BOYBOID | g9 3003 oty Soricin:
%OIRAES? A. JeDmEeSs®, (Moidams) -
(7 G Wb AT, TR R ToRIBIB BB B3RO
uc)_l (2) 28R BeRdnd I3 ROAPNAS = dﬁé oo oo :Sﬁm& (UNESCO) 3
o (3) B Bevinsh S0, ROOIAS R
™ (4) acInA BePdnLe DOIPA® - FR———— -
o) " B. Zods peaned Aol adn3ie,
o _ (UNESCO) & 28, 3900303
87 Swod] adnd Bevdatn/zePinwd FDabe? it
A. &e3x® (Deakin’s) 3038 - BE .orioin doBaE oD
a%amﬁamc}b Aty Sea | tﬁe’-;f—la‘r;ﬁ ﬂm&:mfdd} (3o0D3°)
(NFGIFT) s - i
8 , B. IIT Swmexzf 27, anaam{&mb S - e Miﬂ?} ST 0
< 308 (Udm) oy wodkdoeld [ T .
Q TPoRUWRTEID TIHAT. T Bs 8dhoorvd) odnd a%&?ﬂ!a%e@ﬁﬁ@o
~ evad esobyrieh: o
a1 A m% E;; \ B =R
1 (' 23
ﬁﬂ (2) B an3 B e ot

B) A DD B agEn
(4) A vgoe B ogdne ¢o

Paper-1(E) B

B4 A.B -0 C

l]- "I". O L
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86 Consider the following statements
about Vibrant Villages Programme :

A. Vibrant Villages Programme
(VVP) is a Central Sector
Scheme.

B. It .aims for comprehensive
development of villages of blocks
on the northern border thus
improving the quality of life of
people living in identified border

["‘ | | villages.

9 C. Vibrant Village Action Plans will

be created by the district

| _ administration with the help of

Gram Panchayats. '

How many of the above statement/
E statements is/are correct?

. (1) Only one statement is correct
B (2) Only two statements are correct
(3) Only three statements are corret

(4) None of the statements are correct

87 Which of the following statements
1s / are incorrect?

is located at GIFT City.

B. IIT Madras established its

international campus  in
Tanzania’s Zanzibar.

l A. Deakin’s new university campus

-

Answer Optinns:'

(1) A only

(2) B only

(3) Both A and B
(4) Neither A nor B

Paper-I(E)_B 45
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88 How many of the following Indian
government schemes are directly
associated with India’s biofuel

89

programme?

A. GOBARdhan yojana
B. PM-JIVAN yojana
C. PM-JANMAN yojana -
D. MISHTI scheme

E. SATAT scheme
Answer Options:

(1) Only one

(2) Only two

(3) Only three

(4) Only four

Cnnsi;:ler the following statements :

A.

Moidams - the Mound-Burial
System of the Ahom Dynasty is a
UNESCO World Heritage Site.

Sacred Ensembles of the Hoysalas
is a UNESCO World Heritage

Site.

Mahabodhi Temple Complex at
Bodh Gaya is yet to be declared
as UNESCO World Heritage Site.

Which of the above statement/

statements is/are correct?

(1)

A and B only

(2) B and C only
(3) A and C only
(4) A, Band C
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90 & IJAIIYNYY 03RIJ) Ty eowtd
(Bletchley) $weaiod3), ©dodnn
DIDXT?

(1)

(2)

(3)

(4)

A, olReRBT LVGe3nYroNn
BN DF) evtodeed, 2 303eR IR
IR, NBREPRR
FReRBodRAT.

A VTR Eimdﬁ 209801,
DIRRPDIHBE, DD TR

TIFNIY as@rsﬂmg

eV3eRRDITY, 202B) ARSI
SreasoIPNG.

ad 333 m%ﬁag (Al) 2733r
B0 N33 T 0HINII,
BN THO Be0DT FLorarsodRAT.
WTO =5y miﬂ@ TRIPS 230833
TBE WS FBRET, TSRS 3RIR),
SRERFRTTNT Q0B HIo®
3 Rc3dS Hecasdaden.

91 erodnRod BSRA0RR 83 FwohI0S 2.0
29 2.0t ev3IID), (ODOP) Beodr::

I.

II.

I11.
IV.

902500 A. D@dos
D3

V3 3IND |

20d esd3 B, 3@
o33n

D33 C. @»DoozIng
B D. w%wbd

cmgd esoRD:

(1)
(2)
3)
(4)

[-D, II-A. 1I-C. [V-B

[-A, 11-D. 11-C. V-
[-C, II-A. 111-B. IV-D
[-D, 1I-B. I1I-A, IV-C
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92  Rwod3 BePIRIRy, SORLI:

A. 20240 330°90as® 3 eBNIIY
2T £10c3030er3d) IBRADD,

B. 29033 2083, 29 ﬁdéﬁq‘dgl A IAY
2024v mﬁm@néﬁe g_:ifcé'rfqﬂeg
mémeﬁmaaae a3ToRTIode e3¢
%) cb3ye T[WIEI DT TP
S033.

C. 2024389 e Ber 3eBRTT -
29,00 38e3® (para cricket), o0
dreeor® (para rowing) 3
203 PEdene® (blind football)
39 2203c0d ToT I eEFNRWD
QN R JTT.

'D. 239 esereg R
03P TR TTDoLE?,
33p0b), evPrdeond LPTBIT
BRD PR $eEoReDTN

BITIRRIY, VWERTR.

B3 IFNIZNYO ol BePS/BeLIND

r-delovirYatntl

(1) A= B =53,
(2) A @3 C En3
(3) Bz D 203
(4) L D 2nad
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90 Which of the following best-describes
the Bletchley Declaration?

91

(1)

(2)

)

(4)

It is a declaration on countering
the use of new and emerging
technologies for terrorist
purposes.

It is a declaration focused on
limiting the use of nuclear
weapons and promoting
disarmament among member
states.

It is a declaration aimed at
boosting global efforts to
cooperate on artificial intelligence
(Al) safety. |

It. is ‘a declaration which
reaffirmed that member states of
the WTO’s TRIPS Agreement can
take measures to protect public
health.

Match the following One District One
Product (ODOP) with the respective

districts: |
I. Fig based A. Bidar
| products
II. Ginger B. Kodagu
: based
products
II1. Turmeric C. Chamarajanagar
IV. Coffee D. Bellary '

Answer Options:

(1)
(2)
(3)
(4)

I-D, 1I-A, III-C, IV-B
I-A, 1I-D, III-C, IV-B
I-C, 1I-A, III-B, IV-D
I-D, 1I-B, III-A, IV-C

Paper-I(E) B

A.

(2)

3)

4)
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92 Consider the following statements :

The 2024 Paralympic Games was
held in Tokyo, Japan.

India achieved their most

successful performance in
Paralympic history at the 2024
Paralympic Games, securing a

total of 29 medals.

Indian para-athletes participated
in three new sports in 2024 - para
cricket, para rowing and blind

football.

Javelin ace Sumit Antil made
history as the first Indian man to

defend his title at the Paralyvmpics.

Which of the above statement/

statements 1s/are correct?

A and B only
A and C only.
B and D only

C and D only

P.T.O.
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94

BRODA WICLY:
ERUITDY

R BATRD
A. vF

D. w»2nednt

S0

. eon

O0LRFTT TS
RReBEodinz33
T3S

. 338 B3

RoBob

. @G0 %ﬂfﬁdt}é

VR, ENHTT
DOBZROATI
[o AN

. 3RDN dedad

[PNED)
R DET
Caelatlela)
JeoOET

3PS eolyiood RO0IRT eU3BRY esON:

(1)

A-b, B-a, C-d, D-c

(2) A-b, B-c, C-d, D-a
(3) A-c, B-d, C-a, D-b
(4) A-a, B-b, C-c, D-d

83 3INIJINFS cdRIHd BReERBO 2p3
2,033, DRCOTF BRIV 8.a0e.RYY
RoBs3teord Sre3one?

(1) 23cd 332D

(2) wolemnB &I eRed TBe3

(3) 29 DI e SYed

(4) 3038 dFad 20BB woed s

ABTRY!

Paper-I(E)_B

48

95 et ITELIT B3 FIAT oINS
moeRnn 202489 ToRdxo® I Qe
RescdroonS? |

SPnd 33 Rovyrse EReD

20387308, B, BT eRed

. WP DY RoTEme NRED

8030 23dh AInwod MeReD

OTI0DA V3

39N 20 RPoB RO AIRT VITRI), rOR:

(1) A, B 3 C 303,
2) A,B 33D 3»3
3) A,B @ E 03
(4) C,D 23 E 313

Mmoo >

96 397 2oEIBON oI Bedrith wHect B3
RBobhRY, BoxsdooR:3?

A. S
B. 2dadw
C. 22 ReEIEDS

D. 3°0 es8dedode

E. 8 |

F. «oes®

$9NS 201 YoR ROOIRT eVSTRD), s
(1) «Ir<dd ooFp

(2) eIndd 5 InI

(3) ©@Irivd 4 S

(4) egrivd 3 :ba%
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93 Match the following:

Volcanic Laﬁd

form

A. Sills a.

B. Dykes b.
- C. Lacolith LG

D. Batholith’ d.

Description

Wall-like
structure
perpendicular to
the ground
Thick horizontal
deposits
Dome-like
structure
covering

vast area

Level base

connected by a

| pipe like conduct

from below

Choose the correct answer' from the

options given below:

(1) A-b, B-a, C-d, D-c
(2) A-b, B-c, C-d, D-a
(3) A-c, B-d, C-a, D-b
(4) A-a, B-b, C-c, D-d

94 Which of the following protected areas
of Karnataka is having highest area in

terms of sq. kms?

(1) Cauvery Wildlife Sanctuary

(2) Bandipur Tiger

Reserve

(3) Kali Tiger Reserve

(4) Sharavathi Valley Lion Tailed
Macaque Sanctuary

Paper-1(E)_B
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95 Which of the following waterbodies of
Karnataka are included in the Ramsar
sites recently i.e. 2024?

A.

B,

D.

k.

Choose the correct answer from the

Magadi Kere Conservations

Reserve

Ankasumudra Bird Conservation
Reserve

Bonal Bird Conservation Reserve
Kokkarebellur Community

Reserve

Aghanasini Estuary

options given below:

(1) A, B and C only
(2) A, B and D only
(3) A, B'and E only

(4)

96 Which of the following countries share

C, D and E only

border with Israel?

MY 0w

E.

Choose the correct answer from the

Lebanon
Syria

Jordan

Saudi Arabia
Egypt

Iran

options given below:

(1)
(2)
3)
(4)

All of them

Only 5 of them
Only 4 of them
Only 3 of them

. TETETET R TE T T e Ty T 7 W

L= |
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97 B3 RwodI BePIRIRY TORCIL:

A.

g3

yRU3R9YI WON3 F)IFo &3
SRe33 DRBE VAU oy,
J9,08p00d dweodrt TIpE e,
S0IR0odF) Beodd.

3c&Eod odede Jyodn
W3NG, Toipwods SedHe
et 30 HINLRIMN HIB oed
VA B, FPTWITD.

K203 SoRNT JweedToride, eagdeso
QD3 ZY3od Swewdende, Jsced
33, UL RN, wWTon
J59,03R00TEY RYITI SeI
2e0d, rdRoerH3T.

S0eII  BeREINTD  0INJ@o

2DodRAT(S3)?

(1) A DB 393
2) C 3n3

3) B &3 C 3n3,
4) A, B 33 C 303,

98 &3 39N BeVINII, SO
A. ‘DTOD SRR 830 Soe?
RAIB ok B3e3I FpBreried*
&), FcBeR3.
B. ‘Swoterdd evadeds d IR
A3RBed TR, EIRRPDIT.
C. ‘Q0DRO’'YP AFING I00B RS
D) D3 AeDPTI3 BDobeend.
D. Uoxgmoth ¢p@e3339 Irdodn
FAIRIY, 7B Sz oI ePRBITD.
& DeIIZNId ol e
y delorintala
(1) A DB 303
(2) A DD C I3
(3) B ;bd) L ;ﬁmei
4) CDHD ;im%
Paper-1(E) B

S0

99 3 3PN BVeVINII, JDReIA:

100

A.

dm,B 38R 333 163¢ BRICS

(D) Bornayodhd oo
2N BT, _
AL ﬂ@dbﬂb 29,08° (ADB) odo

BRICS (3°) t:m@ﬂ nood "-ae.,?i Q8
LD gx_hfoia EED%% 239,08° e:rﬁ‘ui

5p03x) BRICS 3orzefod

33300, DoBR DADIHDQ.
USA o3 303e3° 3onzyiod
Eﬁ@&h@-mﬁ AR A 'G?}%ﬁ@lﬁ
ReRed IpBERGNT.

B3 IFAIPNTY W), HeVE/BeVIND

(1)
(2)
G3)
4)

PTV3T mi

- ADaIPAS?

2,003¢ 2,00 HEVE B3, BOOIAT
SR> Beddrdh 303, BoaIRA
Rt Bevdish R0, BOOIA
iR BePdren BOOIPAY

33 D3 PRH RoRVE

OIDR ‘7o, or® BT et B ?%39 eFe®
B obdpc T D02 tﬁd:élé: Jon o3

(1)
(2)
(3)
(4)
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98

Consider the following statements :

A. The power of Judicial Review in
India is enjoyed by the Supreme
Court as well as the High Court.

B. Any person aggrieved by a ruling
can file a Review Petition within
30 days of the court verdict.

C. Review Petitions are heard in
open court as the lawyers make
their arguments through either
oral arguments or written
submissions.

Which of the statements given above
is / are correct? :

(1) A and B only
(2) Conly: "y .
(3) B and C only

(4) A, B and C only

Consider the following statements :

~A. ‘Prorogation’ postpones a joint

sitting of the house by an order
made by the Governor.

B. ‘Adjournment’ terminates both the

sitting and session of the house.

C. ‘Recess’ is the time between the

prorogation and reassembly of the
houses.

D. The Governor can also prorogue
the house in session.

Which of the statements given above
are correct?

(1) A and B only
(2) A and C only
(3) B and C only
(4) C and D only

Paper-1(E)_B
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Consider the following statements:

A. India attended the 16t BRICS

Summit in Kazan. Russia.

B. Asian Development Bank (ADB)

is a multilateral development bank
established by BRICS countries.

C. India has never chaired the

BRICS Summit.

D. USA was incorporated as a new

member during the Kazan

Summit.

How many of the above statement

statements is/are correct?

(1) Only one statement is correct
(2) Only two statements are correct
(3) Only three statements are corret

(4) None of the statements are correcl

Which of the following countries
conferred its highest civilian honour
‘GRAND ORDER OF THE CHAIN
OF "BEHE: YELLOW §8STAR’ on
President of India, Smt. Droupadi

Murmu?

(1) Vietham
(2) Australia
(3) Suriname

(4) Venezuela
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